Multiplication par Puissances de Dix (G)

Trouvez chaque produit.

33x107% = 10 x 1073 =
71 x 1073 = 94 x 107% =
54 x 1073 = 49 x 1073 =
81 x 1072 = 58 x 1073 =
25x 107t = 20x 1073 =
84 x 1073 = 94 x 1073 =
44 x 1071 = 100 x 1072 =
68 X 1072 = 82x 107t =
30X 1073 = 21x 107t =
24 x 107t = 53x 1073 =
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Multiplication par Puissances de Dix (G) Solutions

33 x1072=10,33

71 x 1073 =0,071

54 x 1073 = 0,054

81 x 107 =0,81

25x107'=25

84 x 1073 = 0,084

44 X 107' = 4,4

68 X 107> = 0,68

30 x 1073 =0,03

24x 1071 =24

Trouvez chaque produit.

10 x 1073 = 0,01

94 x 107% = 0,94

49 x 1073 = 0,049

58 x 1073 = 0,058

20 x 1073 =0,02

94 x 107> = 0,094

100 x 1072 =1

82x1071=8,2

21 x107'=21

53 x 1073 = 0,053
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